
STYKLISTE
Side 1

MODEL UH6580

Pos. Art.nr. Betegnelse Stk. Note

001 450444-8 SCHALTHEBEL B   1

002 233157-4 DRUCKFEDER 9   1

003 450442-2 BUEGELGRIFF   1

004 158629-7 HÅNDBESKYTTER (UH4570)   1

005 265995-6 BLIKSKRUE 4x18###(266326-2)   2

006 911253-5 SKRUE M5x30   2

008 188569-5 HUS KPL. (UH5580)   1

INC. 42

009 417740-7 KAPPE (UH4570)   1

010 233288-9 TRYKFJEDER 8 (UH4570)   1

011 268077-3 STIFT 5 (UH4570)   1

012 417727-9 KAPPENHALTER   1

013 417736-8 SCHALTSTERN   1

014 417735-0 STOESSEL   1

015 268078-1 STIFT 3   1

016 417781-3 SCHALTFUEHRUNG   1

017 233156-6 TRYKFJEDER 5 (UH4570)   1

018 257934-0 LÅSERING 4 (UH5580)   1

019 417737-6 STOESSELHEBEL   1

020 417739-2 STOESSELSTANGE   1

021 233156-6 TRYKFJEDER 5 (UH4570)   1

022 417731-8 SCHALTHEBEL C   1

023 265995-6 BLIKSKRUE 4x18###(266326-2)   2

024 687063-9 KABELKLEMMEPLADE###(687052-4)   1

025 450443-0 SCHALTHEBEL A   1

026 233156-6 TRYKFJEDER 5 (UH4570)   1

027 417738-4 AFBRYDERARM (UH5580)   1

028 643936-6 KULHOLDER (8450)   2

029 191962-4 KULSÆT CB-419   1

030 594578-8 FELD (UH5580)   1

031 211032-4 BALL BEARING 608ZZ   1

032 516499-4 ANKER (UH5580)   1

INC. 31,33,34

033 241858-0 FAN 70   1

034 211062-5 KUGLELEJE###(211061-7)   1

035 650522-6 SCHALTER   1

036 645185-1 KONDENSATOR   1

037 654531-7 FORBINDELSESSTYKKE 21   1

038 666246-4 ANSCHLUSSLEITUNG 1,5-2-0,3   1

039 682503-2 KNÆKBESKYTTER (DA6301)   1

040 265995-6 BLIKSKRUE 4x18###(266326-2)   2

041 450445-6 GEHAEUSEABDECKUNG   1

042 188569-5 HUS KPL. (UH5580)   1

INC. 8

043 865786-1 TYPENSCHILD UH6580   1

044 265995-6 BLIKSKRUE 4x18###(266326-2)  10

045 318257-2 GETRIEBEGEHAEUSE   1

046 135217-7 GEAR KPL. (UH5580)   1

047 443142-1 STAUBSCHUTZ   1

048 194673-0 KNIV KPL. 65 CM (UH6580)   1

049 263002-9 GUMMISTIFT 4   1

050 318265-3 GEARHUSDÆKSEL (UH5580)   1

051 265182-7 SCHRAUBE M5x25   2

052 450440-6 GEARHUSAFDÆKN UNDER (UH4570)   1

053 911148-2 SKRUE M4x25###(911546-0)   4

A01 194677-2 CORD HOLDER COMPLETE SET   1

A02 158024-1 TRÆKAFLASTNING (UH3000)   1

A03 450490-1 SVÆRDBESKYTTER 65CM   1



EKSPLOSIONSTEGNING
Side 1

MODEL UH6580


